

## ON OPTIMALITY THEOREMS FOR SEMIDEFINITE LINEAR VECTOR OPTIMIZATION PROBLEMS

MOON HEE KIM

**ABSTRACT.** Recently, semidefinite optimization problems have been intensively studied since many optimization problem can be changed into the problems and the the problems are very computationable. In this paper, we consider a semidefinite linear vector optimization problem (VP) and we establish the optimality theorems for (VP), which holds without any constraint qualification.

### 1. Introduction and Preliminaries

Semidefinite optimization problems have been intensively studied since many optimization problem can be changed into the problems which are very computationable [9]. Jeyakumar, Lee and Dinh [6] proved the sequential optimality conditions for convex optimization problem, which held without any constraint qualification and which were expressed in terms of sequences. The optimality conditions have been studied for many kinds of convex optimization problems. In particular, Lee and Lee [8] studied sequential optimality conditions for efficient solutions of an abstract convex vector optimization problems. Kim, Kim and Lee [7] investigated sequential optimality conditions for a semidefinite linear optimization problems.

In this paper, we establish sequential optimality theorems for a properly efficient solution, efficient solutions and weakly efficient solutions of (VP), which holds without any constraint qualification and which are expressed by sequences.

Let  $X$  be a Hilbert space with inner product  $\langle \cdot, \cdot \rangle$ . For a subset  $D \subset X$ , the closure of  $D$ , induced by the norm topology on  $X$ , is denoted by  $clD$ .

Let  $C$  be a closed convex cone in  $X$ . Then the positive dual cone of  $C$  is defined by

$$C^* := \{z \in X : \langle x, z \rangle \geq 0 \quad \forall x \in C\}.$$

---

Received June 11, 2018; Accepted July 8, 2018.

2010 *Mathematics Subject Classification.* Primary 90C25, 90C29; Secondary 90C46.

*Key words and phrases.* Semidefinite linear vector optimization problem, properly efficient solution, efficient solution, weakly efficient solution.

The indicator function  $\delta_A : X \rightarrow \mathbb{R} \cup \{+\infty\}$  is defined by

$$\delta_A := \begin{cases} 0 & \text{if } x \in A, \\ +\infty & \text{otherwise.} \end{cases}$$

Let  $h : X \rightarrow \mathbb{R} \cup \{+\infty\}$  be a function. The conjugate function of  $h$ ,  $h^* : X \rightarrow \mathbb{R} \cup \{+\infty\}$ , is defined by

$$h^*(v) := \sup\{ \langle v, x \rangle - h(x) \mid x \in \text{dom}h \}$$

where  $\text{dom}h := \{x \in X \mid h(x) < +\infty\}$ .

The function  $h$  is said to be proper if  $h$  does not take on the valued  $-\infty$  and  $\text{dom}h \neq \emptyset$ . The epigraph of the function  $h$  is defined by

$$\text{epih} := \{ (x, r) \in X \times \mathbb{R} : h(x) \leq r \}.$$

We say that  $h$  is proper if  $h(x) > -\infty$  for all  $x \in X$  and  $\text{dom}h \neq \emptyset$ . Moreover if  $\liminf_{y \rightarrow x} h(y) \geq h(x)$  for all  $x \in X$ , we say that  $h$  is lower semicontinuous. A function  $h : X \rightarrow \mathbb{R} \cup \{+\infty\}$  is said to be convex if for all  $\lambda \in [0, 1]$ ,

$$h(\lambda x + (1 - \lambda)y) \leq \lambda h(x) + (1 - \lambda)h(y) \text{ for all } x, y \in X.$$

**Lemma 1.1.** [1] *Let  $h_1, h_2 : X \rightarrow \mathbb{R} \cup \{+\infty\}$  be proper lower semicontinuous convex functions. Then  $\text{epi}(h_1 + h_2)^* = \text{cl}(\text{epi } h_1^* + \text{epi } h_2^*)$ . If, in addition, one of  $h_1$  and  $h_2$  is continuous at some  $x_0 \in \text{dom } h_1 \cap \text{dom } h_2$ , then*

$$\text{epi}(h_1 + h_2)^* = \text{epi } h_1^* + \text{epi } h_2^*.$$

**Lemma 1.2.** [4] *Let  $I$  be an arbitrary index set and let  $h_i : X \rightarrow \mathbb{R} \cup \{+\infty\}$  be proper lower semicontinuous convex functions. Suppose that there exists  $x_0 \in X$  such that  $\sup_{i \in I} h_i(x_0) < \infty$ . Then*

$$\text{epi}(\sup_{i \in I} h_i)^* = \text{clco} \bigcup_{i \in I} \text{epi } h_i^*$$

where  $\sup_{i \in I} h_i : X \rightarrow \mathbb{R} \cup \{+\infty\}$  is defined by  $(\sup_{i \in I} h_i)(x) = \sup_{i \in I} h_i(x)$  for all  $x \in X$ .

$\text{Tr}A$  is the trace of  $n \times n$  matrix  $A$ . For a symmetric  $n \times n$  matrix  $A$ ,  $A \succeq 0$  means that  $A$  is positive semidefinite and  $A \succ 0$  means that  $A$  is positive definite. Let  $S_+^n = \{X \in S^n \mid X \succeq 0\}$ . Let  $S^n$  be the space of  $n \times n$  symmetric matrices. Then  $\text{Tr}(\cdot \cdot)$  is the inner product on  $S^n$  and  $S^n$  is the finite-dimensional Hilbert space with  $\text{Tr}(\cdot \cdot)$  ([2]).

In this paper, we consider the semidefinite linear vector optimization problem:

$$\begin{aligned} \text{(VP)} \quad & \text{Minimize} && \left( \text{Tr}(C_1 X), \dots, \text{Tr}(C_p X) \right) \\ & \text{subject to} && X \succeq 0, \text{Tr}(A_j X) = b_j, j = 1, \dots, m, \end{aligned}$$

where  $C_i \in S^n, i = 1, \dots, p, A_j \in S^n, b_j, j = 1, \dots, m$  are given real numbers.

Let  $\Delta := \{X \in S^n \mid X \succeq 0, \text{Tr}(A_i X) = b_i, i = 1, \dots, m\}$ .

**Definition 1.** (1)  $\bar{X} \in \Delta$  is said to be an efficient solution for (VP) if there exists no other feasible  $X \in \Delta$  such that

$$\begin{aligned} & \left( Tr(C_1 X), \dots, Tr(C_p X) \right) \leq \left( Tr(C_1 \bar{X}), \dots, Tr(C_p \bar{X}) \right) \\ & \text{and } \left( Tr(C_1 X), \dots, Tr(C_p X) \right) \neq \left( Tr(C_1 \bar{X}), \dots, Tr(C_p \bar{X}) \right). \end{aligned}$$

(2) [3]  $\bar{X} \in \Delta$  is said to be a properly efficient solution for (VP) if it is efficient for (VP) and if there exists a scalar  $M > 0$  such that for each  $i$ , we have

$$\frac{Tr(C_i \bar{X}) - Tr(C_i X)}{Tr(C_j X) - Tr(C_j \bar{X})} \leq M$$

for some  $j$  such that  $Tr(C_j X) > Tr(C_j \bar{X})$  whenever  $X \in \Delta$  and  $Tr(C_i X) < Tr(C_i \bar{X})$ .

(3)  $\bar{X} \in \Delta$  is said to be a weakly efficient solution for (VP) if there exists no other feasible  $X \in \Delta$  such that

$$\left( Tr(C_1 X), \dots, Tr(C_p X) \right) < \left( Tr(C_1 \bar{X}), \dots, Tr(C_p \bar{X}) \right).$$

Now we give the following necessary optimality theorems for a properly efficient solution, efficient solution, weakly efficient solution of (VP):

**Theorem 1.3.** *Let  $\bar{X} \in \Delta$ . Then the following are equivalent:*

- (i)  $\bar{X}$  is a properly efficient solution of (VP);
- (ii) there exist  $\lambda_i > 0, i = 1, \dots, p$  ( $\sum_{i=1}^p \lambda_i = 1$ ) such that

$$\begin{aligned} (0, 0) \in & \left( \sum_{i=1}^p \lambda_i C_i, \sum_{i=1}^p \lambda_i Tr(C_i \bar{X}) \right) + \{0\} \times \mathbb{R}^+ \\ & + cl \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + (-S_+^n) \times \mathbb{R}^+ \right); \end{aligned}$$

- (iii) there exist  $\lambda_i > 0, i = 1, \dots, p$  ( $\sum_{i=1}^p \lambda_i = 1$ ),  $\mu_j^l \in \mathbb{R}, j = 1, \dots, m$ ,  $V^l \in S_+^n$  such that

$$\begin{aligned} & \sum_{i=1}^p \lambda_i C_i + \lim_{l \rightarrow \infty} \left[ \sum_{j=1}^m \mu_j^l A_j - V^l \right] = 0 \\ & \text{and } \lim_{l \rightarrow \infty} Tr(V^l \bar{X}) = 0. \end{aligned}$$

*Proof.* ((i)  $\Rightarrow$  (ii)  $\Rightarrow$  (iii)) Let  $\bar{X}$  be a properly efficient solution of (VP). By Theorem 2 in [3] there exists  $\lambda_i > 0, i = 1, \dots, p$  such that

$$\sum_{i=1}^p \lambda_i Tr(C_i X) \geq \sum_{i=1}^p \lambda_i Tr(C_i \bar{X}), \quad \forall X \in \Delta.$$

Let  $F(X) = \sum_{i=1}^p \lambda_i Tr(C_i X)$ . Then  $F(X) \geq F(\bar{X}), \quad \forall X \in \Delta$ . Since  $F(X) + \delta_\Delta(X) \geq F(\bar{X})$ . Hence  $Tr(0X) - \left[ F(X) + \delta_\Delta(X) \right] \leq -F(\bar{X}) \quad \forall X \in \Delta$ .

Since  $\sup \left\{ \text{Tr}(0X) - \left[ F(X) + \delta_\Delta(X) \right] \mid X \in \Delta \right\} \leq -F(\bar{X})$ . Then  $(F + \delta_\Delta)^*(0) \leq -F(\bar{X})$ . Since  $(0, -F(\bar{X})) \in \text{epi}(F + \delta_\Delta)^*$ ,  $(0, -F(\bar{X})) \in \text{epi}F^* + \text{epi}\delta_\Delta^*$ . Here  $\text{epi}F^* = \left\{ \left( \sum_{i=1}^p \lambda_i C_i, 0 \right) \right\} + \{0\} \times \mathbb{R}^+$  and

$$\begin{aligned} \text{epi}\delta_\Delta^* &= \text{epi} \left( \sup_{\substack{\mu_j \in \mathbb{R} \\ Z \in S_+^n}} \left[ \sum_{j=1}^m \mu_j (\text{Tr}(A_j \cdot) - b_j) + \text{Tr}(-Z \cdot) \right] \right)^* \\ &= \text{clco} \left( \bigcup_{\substack{\mu_j \in \mathbb{R} \\ Z \in S_+^n}} \text{epi} \left[ \sum_{j=1}^m \mu_j (\text{Tr}(A_j \cdot) - b_j) + \text{Tr}(-Z \cdot) \right] \right)^* \\ &= \text{cl} \left( \bigcup_{\mu_j \in \mathbb{R}} \text{epi} \left[ \sum_{j=1}^m \mu_j (\text{Tr}(A_j \cdot) - b_j) \right]^* + \bigcup_{Z \in S_+^n} \text{epi} \left[ \text{Tr}(-Z \cdot) \right]^* \right) \\ &= \text{cl} \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + (-S_+^n) \times \mathbb{R}^+ \right) \end{aligned}$$

and

$$\begin{aligned} \left( 0, -\sum_{i=1}^p \lambda_i \text{Tr}(C_i \bar{X}) \right) &\in \left\{ \left( \sum_{i=1}^p \lambda_i C_i, 0 \right) \right\} + \{0\} \times \mathbb{R}^+ \\ &\quad + \text{cl} \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + (-S_+^n) \times \mathbb{R}^+ \right). \end{aligned}$$

Hence there exist  $\lambda_i > 0, i = 1, \dots, p$  ( $\sum_{i=1}^p \lambda_i = 1$ ) such that

$$\begin{aligned} (0, 0) &\in \left( \sum_{i=1}^p \lambda_i C_i, \sum_{i=1}^p \lambda_i \text{Tr}(C_i \bar{X}) \right) + \{0\} \times \mathbb{R}^+ \\ &\quad + \text{cl} \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + (-S_+^n) \times \mathbb{R}^+ \right). \end{aligned}$$

Therefore there exist  $\lambda_i > 0, i = 1, \dots, p$  ( $\sum_{i=1}^p \lambda_i = 1$ ),  $\mu_j^l \in \mathbb{R}, V^l \in S_+^n, r \in \mathbb{R}^+$  and  $r^l \in \mathbb{R}^+$  such that

$$\begin{aligned} \sum_{i=1}^p \lambda_i C_i + \lim_{l \rightarrow \infty} \left[ \sum_{j=1}^m \mu_j^l A_j - V^l \right] &= 0 \\ \text{and } \sum_{i=1}^p \lambda_i \text{Tr}(C_i \bar{X}) + r + \lim_{l \rightarrow \infty} \left[ \sum_{j=1}^m \mu_j^l b_j + r^l \right] &= 0. \end{aligned}$$

Since

$$0 = \sum_{i=1}^p \lambda_i \text{Tr}(C_i \bar{X}) + \lim_{l \rightarrow \infty} \text{Tr} \left( \sum_{j=1}^m \mu_j^l A_j - V^l \right) \bar{X}$$

$$\begin{aligned}
 &= -\lim_{l \rightarrow \infty} \left( \sum_{j=1}^m \mu_j^l b_j + r^l \right) - r + \lim_{l \rightarrow \infty} \left[ \text{Tr} \left( \sum_{j=1}^m \mu_j^l A_j \right) \bar{X} - \text{Tr}(V^l \bar{X}) \right] \\
 &= -\lim_{l \rightarrow \infty} \left[ r^l + \text{Tr}(V^l \bar{X}) \right] - r.
 \end{aligned}$$

Since  $r^l \geq 0$  and  $\text{Tr}(V^l \bar{X}) \geq 0$  then  $r = 0$ ,  $\lim_{l \rightarrow \infty} r^l = 0$  and  $\lim_{l \rightarrow \infty} \text{Tr}(V^l \bar{X}) = 0$ . Therefore there exist  $\lambda_i > 0, i = 1, \dots, p$  ( $\sum_{i=1}^p \lambda_i = 1$ ),  $\mu_j^l \in \mathbb{R}, V^l \in S_+^n$  such that

$$\begin{aligned}
 \sum_{i=1}^p \lambda_i C_i + \lim_{l \rightarrow \infty} \left[ \sum_{j=1}^m \mu_j^l A_j - V^l \right] &= 0 \\
 \text{and } \lim_{l \rightarrow \infty} \text{Tr}(V^l \bar{X}) &= 0.
 \end{aligned}$$

((iii)  $\Rightarrow$  (i)) Suppose that (iii) holds. Then for any  $X \in \Delta$ ,

$$\sum_{i=1}^p \lambda_i \text{Tr}(C_i(X - \bar{X})) + \lim_{l \rightarrow \infty} \left[ \sum_{j=1}^m \mu_j^l \text{Tr}(A_j(X - \bar{X})) - \text{Tr}(V^l(X - \bar{X})) \right] = 0.$$

So,  $\sum_{i=1}^p \lambda_i \text{Tr}(C_i(X - \bar{X})) + \lim_{l \rightarrow \infty} (-\text{Tr}(V^l X)) = 0$  for any  $X \in \Delta$ . Thus  $\sum_{i=1}^p \lambda_i \text{Tr}(C_i X) \geq \sum_{i=1}^p \lambda_i \text{Tr}(C_i \bar{X})$  for any  $X \in \Delta$ . By Theorem 2 in [3],  $\bar{X}$  is a properly efficient solution of (VP). □

**Theorem 1.4.** *Let  $\bar{X} \in \Delta$ . Then the following are equivalent:*

(i)  $\bar{X}$  is an efficient solution of (VP);

(ii) for each  $i = 1, \dots, p$ ,

$$\begin{aligned}
 (0, 0) \in (C_i, \text{Tr}(C_i \bar{X})) + \{0\} \times \mathbb{R}^+ \\
 + \text{cl} \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + \bigcup_{\eta_k \geq 0, k \neq i} \sum \eta_k (C_k, \text{Tr}(C_k \bar{X})) + (-S_+^n) \times \mathbb{R}^+ \right);
 \end{aligned}$$

(iii) for each  $i = 1, \dots, p$ , there exist  $\mu_j^l \in \mathbb{R}, \eta_k^l \geq 0, V^l \in S_+^n$  such that

$$\begin{aligned}
 C_i + \lim_{l \rightarrow \infty} \left[ \sum_{j=1}^m \mu_j^l A_j + \sum_{k \neq i} \eta_k^l C_k - V^l \right] &= 0 \\
 \text{and } \lim_{l \rightarrow \infty} \text{Tr}(V^l \bar{X}) &= 0.
 \end{aligned}$$

*Proof.* ((i)  $\Rightarrow$  (ii)  $\Rightarrow$  (iii)) Let  $\bar{X} \in \Delta$ . Then  $\bar{X}$  is an efficient solution of (VP) if and only if for each  $i = 1, \dots, p$ ,  $\bar{X}$  is an optimal solution of the following problem (VP)<sub>i</sub>;

$$\begin{aligned}
 \text{(VP)}_i \quad &\text{Minimize} && \text{Tr}(C_i X) \\
 &\text{subject to} && \text{Tr}(C_k X) \leq \text{Tr}(C_k \bar{X}), \quad k \neq i, \\
 &&& \text{Tr}(A_j X) = b_j, \quad j = 1, \dots, m, \\
 &&& X \succeq 0.
 \end{aligned}$$

Let  $i \in \{1, \dots, p\}$  be fixed. Let  $F_i(X) = \text{Tr}(C_i X)$  and  $G = \{X \in S^n \mid X \succeq 0, \text{Tr}(C_k X) \leq \text{Tr}(C_k \bar{X}), k \neq i, \text{Tr}(A_j X) = b_j, j = 1, \dots, m\}$ . Then

$$(0, -F_i(\bar{X})) \in \text{epi}F_i^* + \text{epi}\delta_G^*. \quad (1)$$

Here  $\text{epi}F_i^* = \{(C_i, 0)\} + \{0\} \times \mathbb{R}^+$  and

$$\begin{aligned} & \text{epi}\delta_G^* \\ &= \text{epi} \left( \sup_{\substack{\mu_j \in \mathbb{R} \\ \eta_k \geq 0 \\ Z \in S_+^n}} \left[ \sum_{j=1}^m \mu_j (\text{Tr}(A_j \cdot) - b_j) + \sum_{k \neq i} \eta_k (\text{Tr}(C_k \cdot) - \text{Tr}(C_k \bar{X})) + \text{Tr}(-Z \cdot) \right] \right)^* \\ &= \text{clco} \left( \bigcup_{\substack{\mu_j \in \mathbb{R} \\ \eta_k \geq 0 \\ Z \in S_+^n}} \text{epi} \left[ \sum_{j=1}^m \mu_j (\text{Tr}(A_j \cdot) - b_j) + \sum_{k \neq i} \eta_k (\text{Tr}(C_k \cdot) - \text{Tr}(C_k \bar{X})) + \text{Tr}(-Z \cdot) \right] \right)^* \\ &= \text{cl} \left( \bigcup_{\mu_j \in \mathbb{R}} \text{epi} \left[ \sum_{j=1}^m \mu_j (\text{Tr}(A_j \cdot) - b_j) \right]^* + \bigcup_{\eta_k \geq 0} \text{epi} \left[ \sum_{k \neq i} \eta_k (\text{Tr}(C_k \cdot) - \text{Tr}(C_k \bar{X})) \right]^* \right. \\ &\quad \left. + \bigcup_{Z \in S_+^n} \text{epi}(\text{Tr}(-Z \cdot))^* \right) \\ &= \text{cl} \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + \bigcup_{\eta_k \geq 0} \sum_{k \neq i} \eta_k (C_k, \text{Tr}(C_k \bar{X})) + (-S_+^n) \times \mathbb{R}^+ \right). \end{aligned}$$

So, from (1),

$$\begin{aligned} (0, -\text{Tr}(C_i \bar{X})) &\in \{(C_i, 0)\} + \{0\} \times \mathbb{R}_+ \\ &+ \text{cl} \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + \bigcup_{\eta_k \geq 0} \sum_{k \neq i} \eta_k (C_k, \text{Tr}(C_k \bar{X})) + (-S_+^n) \times \mathbb{R}^+ \right). \end{aligned}$$

Hence

$$\begin{aligned} (0, 0) &\in (C_i, \text{Tr}(C_i \bar{X})) + \{0\} \times \mathbb{R}_+ \\ &+ \text{cl} \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + \bigcup_{\eta_k \geq 0} \sum_{k \neq i} \eta_k (C_k, \text{Tr}(C_k \bar{X})) + (-S_+^n) \times \mathbb{R}^+ \right). \end{aligned}$$

Therefore there exist  $r \in \mathbb{R}^+$ ,  $\mu_j^l \in \mathbb{R}$ ,  $\eta_k^l \geq 0$ ,  $V^l \in S_+^n$  and  $r^l \in \mathbb{R}^+$  such that

$$C_i + \lim_{l \rightarrow \infty} \left( \sum_{j=1}^m \mu_j^l A_j + \sum_{k \neq i} \eta_k^l C_k - V^l \right) = 0 \quad (2)$$

$$\text{and } \text{Tr}(C_i \bar{X}) + r + \lim_{l \rightarrow \infty} \left( \sum_{j=1}^m \mu_j^l b_j + \sum_{k \neq j} \eta_k^l \text{Tr}(C_k \bar{X}) + r^l \right) = 0. \quad (3)$$

From (2),  $Tr(C_i \bar{X}) + \lim_{l \rightarrow \infty} \left( \sum_{j=1}^m \mu_j^l Tr(A_j \bar{X}) + \sum_{k \neq i} \eta_k^l Tr(C_k \bar{X}) - Tr(V^l \bar{X}) \right) = 0$ . Thus, from (3),  $-r + \lim_{l \rightarrow \infty} \left( -Tr(V^l \bar{X}) - r^l \right) = 0$ , that is

$$r + \lim_{l \rightarrow \infty} \left( Tr(V^l \bar{X}) + r^l \right) = 0.$$

Since  $r \geq 0$ ,  $r^l \geq 0$  and  $Tr(V^l \bar{X}) \geq 0$ ,  $r = 0$ ,  $\lim_{l \rightarrow \infty} Tr(V^l \bar{X}) = 0$  and  $\lim_{l \rightarrow \infty} r^l = 0$ . Therefore for each  $i = 1, \dots, p$ , there exist  $\mu_j^l \in \mathbb{R}$ ,  $\eta_k^l \geq 0$ ,  $V^l \in S_+^n$  such that

$$C_i + \lim_{l \rightarrow \infty} \left( \sum_{j=1}^m \mu_j^l A_j + \sum_{k \neq i} \eta_k^l C_k - V^l \right) = 0$$

and  $\lim_{l \rightarrow \infty} Tr(V^l \bar{X}) = 0$ .

((iii)  $\Rightarrow$  (i)) Suppose that (iii) holds. Then for any  $X \in G$ ,

$$Tr(C_i(X - \bar{X})) + \lim_{l \rightarrow \infty} \left( \sum_{j=1}^m \mu_j^l Tr(A_j(X - \bar{X})) + \sum_{k \neq i} \eta_k^l Tr(C_k(X - \bar{X})) - Tr(V^l(X - \bar{X})) \right) = 0.$$

Since  $\lim_{l \rightarrow \infty} Tr(V^l \bar{X}) = 0$ , for any  $X \in G$ ,

$$Tr(C_i(X - \bar{X})) + \lim_{l \rightarrow \infty} \left( \sum_{k \neq i} \eta_k^l Tr(C_k(X - \bar{X})) - Tr(V^l X) \right) = 0.$$

So, for any  $X \in G$ ,  $Tr(C_i X) \geq Tr(C_i \bar{X})$ . Thus for each  $i = 1, \dots, p$ ,  $Tr(C_i X) \geq Tr(C_i \bar{X})$  for any  $X \in G$ . Hence  $\bar{X}$  is an efficient solution of (VP). □

Since  $\bar{X} \in \Delta$  is an efficient solution of (VP) if and only if,

$$\begin{aligned} &\text{Minimize} && \sum_{i=1}^p Tr(C_i X) \\ &\text{subject to} && Tr(C_i X) \leq Tr(C_i \bar{X}), \quad i = 1, \dots, p, \\ &&& Tr(A_j X) = b_j, \quad j = 1, \dots, m, \\ &&& X \succeq 0, \end{aligned}$$

by proof similar to one of Theorem 1.5, we can obtain the following theorem for the efficient solution of (VP):

**Theorem 1.5.** *Let  $\bar{X} \in \Delta$ . Then the following are equivalent:*

- (i)  $\bar{X}$  is an efficient solution of (VP);
- (ii)  $(0, 0) \in \left\{ \left( \sum_{i=1}^p C_i, Tr(\sum_{i=1}^p C_i \bar{X}) \right) \right\} + \{0\} \times \mathbb{R}^+$

$$+ cl \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + \bigcup_{\eta_k \geq 0} \sum_{k=1}^p \eta_k (C_k, Tr(C_k \bar{X})) + (-S_+^n) \times \mathbb{R}^+ \right);$$

(iii) there exist  $\mu_j^l \in \mathbb{R}$ ,  $\eta_k^l \geq 0$  and  $V^l \in S_+^n$  such that

$$\sum_{i=1}^p C_i + \lim_{l \rightarrow \infty} \left[ \sum_{j=1}^m \mu_j^l A_j + \sum_{k=1}^p \eta_k^l C_k - V^l \right] = 0$$

and  $\lim_{l \rightarrow \infty} Tr(V^l \bar{X}) = 0$ .

**Theorem 1.6.** Let  $\bar{X} \in \Delta$ . Then the following are equivalent:

- (i)  $\bar{X}$  is a weakly efficient solution of (VP);
- (ii) there exist  $\lambda_i \geq 0$ ,  $i = 1, \dots, p$  ( $\sum_{i=1}^p \lambda_i = 1$ ) such that

$$(0, 0) \in \left( \sum_{i=1}^m \lambda_i C_i, \sum_{i=1}^p \lambda_i Tr(C_i \bar{X}) \right) + \{0\} \times \mathbb{R}^+$$

$$+ cl \left( \bigcup_{\mu_j \in \mathbb{R}} \sum_{j=1}^m \mu_j (A_j, b_j) + (-S_+^n) \times \mathbb{R}^+ \right);$$

(iii) there exist  $\lambda_i \geq 0$ ,  $i = 1, \dots, p$  ( $\sum_{i=1}^p \lambda_i = 1$ ),  $\mu_j^l \in \mathbb{R}$ ,  $j = 1, \dots, m$ ,  $V^l \in S_+^n$  such that

$$\sum_{i=1}^p \lambda_i C_i + \lim_{l \rightarrow \infty} \left[ \sum_{j=1}^m \mu_j^l A_j - V^l \right] = 0$$

and  $\lim_{l \rightarrow \infty} Tr(V^l \bar{X}) = 0$ .

*Proof.* ((i)  $\Rightarrow$  (ii)  $\Rightarrow$  (iii)) Let  $\bar{X} \in \Delta$ . Then  $\bar{X}$  is a weakly efficient solution of (VP) if and only if there exist  $\lambda_i \geq 0$ ,  $i = 1, \dots, p$  ( $\sum_{i=1}^p \lambda_i = 1$ ) such that  $\bar{X}$  is an optimal solution of the following problem:

Minimize  $\sum_{i=1}^p \lambda_i Tr(C_i X)$

subject to  $Tr(A_j X) = b_j, j = 1, \dots, m,$

$X \succeq 0$ .

Let  $F(X) = \sum_{i=1}^p \lambda_i Tr(C_i X)$ . Then  $F(X) \geq F(\bar{X}), \forall X \in \Delta$ . By the method similar to the proof of Theorem 1.4, we can prove the result.  $\square$

### References

- [1] R.S. Burachik and V. Jeyakumar, Dual condition for the convex subdifferential sum formula with applications, *J. Con. Analy.*, 12(2005), 279-290.
- [2] Etienne de Klerk, “*Aspects of Semidefinite Programming: Interior Point Algorithms and Selected Applications*”, Kluwer Academic Publishers, 2002.
- [3] A.M. Geoffrion, Proper efficiency and the theory of vector optimization, *Journal of Mathematical Analysis and Applications*, Vol. 22(1968), 618-630.
- [4] G.Y. Li, V. Jeyakumar and G.M. Lee, Robust conjugate duality for convex optimization under uncertainty with application to data classification, *Nonlinear Anal.*, 74(2011), 2327-2341.



- [5] J. Jahn, *“Introduction to the Theory of Nonlinear Optimization”*, Springer-Verlag Berlin, 2007.
- [6] J. Jeyakumar, G. M. Lee and N. Dinh, New sequential Lagrange multiplier conditions characterizing optimality without constraint qualification for convex programs, *SIAM J. Optim.*, 14 (2003), 534-547.
- [7] M. H. Kim, G. S. Kim and G. M. Lee, On semidefinite linear fractional optimization problems, to appear in *J. Nonlinear and Convex Anal.*.
- [8] G. M. Lee and K. B. Lee, On optimality conditions for abstract convex vector optimization problems, *J. Korean Math. Soc.*, 44 (2007), 971-985.
- [9] L. Vandenberghe and S. Boyd, Semidefinite Programming, *SIAM Review*, 38 (1996), 49-95.

MOON HEE KIM  
COLLEGE OF GENERAL EDUCATION  
TONGMYONG UNIVERSITY  
BUSAN 48520, KOREA  
*E-mail address:* mooni@tu.ac.kr